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	�	��	 ��� ��������	 �	���� ��	 	*	���
	 
�� �	��	��	��	
	� ����	������ ����
����� /����	���  �	 ����� �� � ������ �
 ����	����
	 ����� ������	�	� 
�� ���������
 �	 ����	� &�'() ��	��� ��	 ����	�� ����	������� ����� 
������ ��������� 	
��������
�	����� �� �	��	��	��	
	� ����	������������+	���� 	� ���� 344:�� &�'() �	�	����	� ��	
���� �������	 ����� ����� ��
�������� �	���	� �� ����� �	���� ��� ��������� >��	
	��
&�'() ��� � �	
	�	 �����	�A �� �		�� ���� ����	�� ���	 �� �	�	����	 �������	 �������
 ��� �����	� �	���	� �� �������	 �� �	���+����� �
 � ��������� ��������� 	
�������� ����
�	� ����� ���������� �����	��	� �������� ��	 ������� �
 ��	 ����	� ����� �����
	 ��	�
���������� �����	��	 �� ��	��  �	�	
��	� �	 ������	 �� ������+����� �	���� �� �	�	����	
��	 ����� 	,��	���� �� ��������� 	
�������� ���	� �� �������

!�� �	���� �	�	���	� � ��		 ��������	 ���	� �� ���	� ����	�������� �� �������� ������
)���	��	����� �� ��	� �� ������� ����������� ����	 ���� ������	� ��
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j < 3 = @ ? B 5 8 : <4 << <3
nj � ����� ����� �	�� �
 ��
�� ��� � ���� 	
 ��� ����


��� ����

i mi 4 4 4 4 4 4 4 4 4 4 4 4 4
< ����� 4 4 � < < < < < < < 3 3 3
3 ����� 4 4 < � 3 3 3 3 3 3 3 3 3
= 	
 4 4 < 3 3 3 3 3 3 3 � = =
@ ��� 4 4 < 3 3 3 3 3 3 3 = � @

����
?

����
4 4 < 3 3 3 3 3 3 3 = @ @

�	�
�
B

��
�
4 4 < 3 3 3 3 3 3 3 = @ @

5 ��
�� 4 4 < 3 3 3 � = = = = @ @
8 � 4 4 < 3 3 3 = = � @ @ @ @

 ���	 <A ������	 <A ( ������� ����������� ����	�

&�  ���	 <� ��	 
���	� ������ i ��� j� ������	 �
 ��	 ����	 �	��	���
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������� 
���	 �
 j� ��� ��	 ���� ����	� �
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 i�  �	 
���	� �� ��	 ����	 ��	 ������	� �� ��� �<��

Di,j =





0, i = 0 �� j = 0
max(Di−1,j , Di,j−1), mi �= nj

Di−1,j−1 + 1, mi = nj

�<�

 �	 �	���� �
 -)6 �� @ �� ��� �<� ��  ���	 <� ���	�
	�� ��	 ����	� �
 -)6 ����	� ��
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�	 � C����� ����	D ����	� �� ���	� �	��	� ' ���	 C�
 ��	D �	���

&� -)6 ����	 7�� <� ��	 �������� ����� ��	 E�����F� E����	F� E���	�F� ��� E'F� &� -)6 ����	
7�� 3� ��	 �������� ����� ��	 E�����F� E����	F� E�
F� ��� E��	F�  �	�	 �������� �����
����	����� �� ���� 
���	� ��  ���	 <�  �	 ����	����
	 �����	� 
��� ��	 ������  �	�	
��	�
��	 ����	� �
 ������ �� = ������ E����� ����	F� E���	�F� E'F� �� -)6 ����	 7�� <� ��� ��	
����	� �
 ������ �� 3 ������ E����� ����	F� E�
 ��	F� �� -)6 ����	 7�� 3� &� ���� 	�����	�
-)6 ����	 7�� < ���� �	 �	�	��	� �	����	 �� ��� ��	 ���� �������	 ������ &� -)6 ����	
7�� 3� E�
 ��	F �� ��	 ��������	 ��	� ��� ����	����� �� E�
 ��	F �� ��	 �	
	�	��	�  �	�	
��	�
-)6 ����	 7�� < ��� � ���	 �������	 ����� ������	� ���� -)6 ����	 7�� 3�
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�������
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 ����� �� ��� ������ �E�����
����	F� E�
 ��	F� ��	 3� ���	�
	�� �� -)6 ����	 7�� <� ��	 ��������	� �
 ����� �� ���		
������ �E����� ����	F� E���	�F� E��	F� ��	� �	��	���
	��� 3� <� ��� <�  �	�	
��	� �� �!"
�	�	��� -)6 ����	 7�� 3� 
�� ����� ��	 ����	� �
 ������ �� ������ �	����	 ��	 �	�����
�	���	� � ����� 
���	 �� ��	 ����������� �
 ��	 ����	� ��� "!$#��% ���� �	�	��� -)6
����	 7�� 3� 
�� ����� ��	 �	����� �
 ��� ������ ��	 3�

&� ��������� &�'() �	�	��� -)6 ����	 7�� < �	����	 �� ��	� ��
�������� �
 ��	 ��������
�
 ��	 ������ ��� ���� ��	 ����� �	����� &� -)6 ����	 7�� 3� ��	 ��������� �
 E�
 ��	F
�� ��������	 ��� �	
	�	��	 ��	 ����	�� ��*	�	��� &� &�'() � ��	 ����	 �� ��������	� �����
��	 �	���� ��� �������� �
 ����� �� 	��� -)6 ����	 ��	� �	
	��� -)6 ����	� ��	 ������	�

�������� ���� �3� ��� �=�� !��� ��	 -)6 ����	� ����� ��� ��	 ����	�� ����	� �� �	�	��	��

score =
∑

c∈cGnum

(
length(c)β × pos

)
�3�

pos =
(
1.0− | ci

m
− cj

n
|
)

�=�

&� ��� �3�� c �	��� ��	 ������� ��� β �� ��	 �	���� �����	�	� ���	� �� ��	 �	���� �

	��� ����� �β > <�4��  �	 pos �����.	� ��	 ��*	�	��	 �
 ��	 �	����
	 �������� �
 ��	 �����
c �	��		� ��	 ��������	 ��� �	
	�	��	� &� ��� �=�� m ��� n �	��	���
	�� �������	 ��	
��������	� �
 ����� �� ��	 ��������	 ��� �	
	�	��	� &� ��������� ci ��� cj �	��	���
	��
�������	 ��	 �������� �
 ������ �
 ��	 ��������	 ��� �	
	�	��	�  �	 ����	 �� -)6 ����	 7��
< �� =�@:==�= 21.2×(1.0−| 18− 2

12 |)+11.2×(1.0−| 78− 6
12 |)+11.2×(1.0−| 88− 8

12 |)� ��	� β �� <�3�
��� ��	 ����	 �� -)6 ����	 7�� 3 �� =�@@B<�= 21.2× (1.0−|18 − 2

12 |)+21.2× (1.0−|38 − 10
12 |)��

 �	�	
��	� &�'() �	�	��� -)6 ����	 7�� <� ����	 ����	 �� ����	� ���� ���� �
 -)6 ����	
7�� 3� (� �� ��	��� �� �� ��������� 
�� ��������� 	
�������� ���	� �� ������ ������ ��	
��
�������� ����� ���� ��	 �	���� ��� �������� �
 �������

>��	
	�� &�'() ��� � 
	�� �	
	�	 �����	�� &� �	����	� ���� ����	����� ���	 �� �	����
��� -)6 ����	� �� �	�	����	 ��	 -)6 ����	 ����� ��� ��	 ���� �������	 ������� ���	�
	��
�� ���� ���	� &�'() ���� ���� ��� 
���	� �
 �	��� �� ��	 ������� ����������� ����	
�������� ������ ��� 
���	� �� ��� ����	����� �� ����� ���� ����� �	��		� ��	 ��������	
��� �	
	�	��	 �	���� &� "!$#��% ��� �� �!"� ��� ���� ����	����� ���	 �� �		�	�
�	����	 ��	� �� ��� ������	� ��� -)6 ����	� �� �	�	����	 ��	 ������� >��	
	�� ��	� ������
�	�	�� ��	 ���� �������	 ������� !�	 ��� �� ��	 ���	�� ��������� 	
�������� ����	�� ���	�
�� ������ ��	�	�� �	
	�	 �����	���  � ���
	 ���� �����	�� �	 ������	 �� ������+�����
�	���� �� �	�	����	 ��	 ���� �������	 ����� 	,��	�����

� ���	�	���	�� ������ ��� ����� ������	���	��

��� ����	�� ���� ��� �����	� ��������	�� ���
� �� ��� ����

���������

 ���	 3 ����� �� 	�����	 �
 ��	 ������� ����������� ����	 �	�	���	� �� ������ ��������
����� 
�� ��	 
�������� ��	 ��������	 ��� �	
	�	��	 
����	���A
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���������	 ����� ���	� �	�	����	 ��	 ������ �� �	������� ������ ����	�
�
����

�	 
�� ������	�	�� �
 �	��������� �� ��	 �	���� ���	� ��	 ������ ����	 �� �	�	��
���	�

j � � � � � � � � � �� �� �� ��

�� �� �� ��� ��

nj ���
�� 	
 ������ 	
 ��� ����
 ���� � ��� ��
� �	��� �� ����

���
� ���	
 ���
��

i mi 4 4 4 4 4 4 4 4 4 4 4 4 4 4
� ���� 4 4 4 4 4 4 4 4 4 4 4 4 4 4
� ����� 4 4 4 4 4 4 4 4 4 4 4 4 4 4

��

� ���� 4 4 4 4 4 4 4 4 4 4 4 4 4 4
���
�

� ��� 4 4 4 4 4 � < < < � < < < <
� ����� 4 4 4 4 4 < < < < < < < < <
� �	 4 4 4 4 4 < < < < < < < < <

��

� ����
 4 4 4 4 4 < < < < < < < < <
��
�

� 	
 4 4 � < < < < < < < < < < <
� ��� 4 4 < < < � 3 3 3 � 3 3 3 3

���
��

��
�
4 4 < < < 3 3 3 3 = � = = =

���	���� 4 4 < < < 3 3 3 3 = = = = =

 ���	 3A ������	 3A 0������ ����������� ����	�

&� &�'() � -)6 ����	� �
 ���		 ����� ��	 ������	� 
��� ��	 ������� ����������� ����	
�
  ���	 3� �������� ��� 
���	� �
 �	��� �� �	�����	� �	����

��� ���
� ����

���������	 ����� ���	� �	�	����	 ��	 ����� �� �	������� C�
D C��	 ������D ����	�
�
����

�	 ������	�	�� C�
D �	��������� �� ��	 �	���� ���	 � C��	 ������D ����	 �� �	�	��
���	�
��� ���
� ����

���������	 ����� ���	� �	�	����	 C��	D ����� �� �	������� �
 C��	 ������D ����	�
�
����

�	 ������	�	�� �
 �	��������� �� C��	D �	���� ���	 � C��	 ������D ����	 �� �	�	��
���	�
��� ���
� ����

���������	 ����� ���	� �	�	����	 ��	 ����� �� �	������� C�
D C��	D C������D ����	�
�
����

�	 ������	�	�� C�
D �	��������� �� C��	D �	���� ���	 � ��	 C������D ����	 �� �	�
�	����	�

&� ��	 	�����	 ��
	� ���
	� ��	 -)6 ����	� ���� ��	 ���� �������	 ������ ��	 -)6 ����	
7�� < ��� 7�� 3� -)6 ����	 7�� 3 �� �	�	��	� �� &�'() �� ��	 ��
�������� �
 ��	
�������� �
 ����� E��	F� >��	
	�� &�'() �		�� ���� ����	����� ���	 �	����	 �� ����
���� ��� 
���	� �
 �	��� ���� �� ��� ����	����� �� ��	 �������� ����� ��  ���	 3�
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!�� �	���� �	����	� ��	 ��
�������� �
 ��	 �������� ����� �� � ������� �����������
����	 ���� � ��		 ��������	�  �	�	
��	� ��� �	���� ��� 	������+	 �������� ����� �������
�������� ��	 
���	� �
 �	��� ���� �� ��� ����	����� �� ��	 �������� ����� �� ��	 �������
����������� ����	�  ��� �	��� ���� ��� �	���� ��� �	��	��	 ����	����� ���	�

������ ��� �	���� �	�	���	� ��	 ������� ����������� ����	 ��� 	������� ���� D[i,j] �����
����	����� �� ��	 �������� ������ &�  ���	 3� ��	 
���	� ����� �� ���� ���	
��	 ����	�����
�� ��	 �������� ������  �	�	
��	� ��� D[i,j] �
 ��	 �������� ����� ��	 D[4,5]� D[4,9]� D[8,2]�
D[9,5]� D[9,9] ��� D[10,10]� !�� �	���� �	����	� �� ������� ����������� ����	 �
�	�
	��������� �
 ��	 �������� ������ ���	�
	�� ��� �	���� ����� D[i,j] 
��� ����	 �� �����

���	�� ���� D[i,j] ����	������ �� � ���	 �
 ��	 ��		 ��������	� �����	 < ��	�	��� ��
	�����	 �
 ��	 ���� �
 D[i,j]�

3

2

1

D [10,10]

D [4, 5] D [4, 9]

D [9, 5]D [9, 9]

value

D [8, 2]

D [i, j]

�����	 <A ������	 �
 ��	 ������� �
 D[i,j]�

!�� �	���� �	�	���	� � ��		 ��������	 ������� ��� D[i,j]� �����	 3 ����� ��	 ��������� 
��
������� �	��		� ��� ���	� �� � ��		 ��������	�

for(s = level_num; s > 1; s--)

for(t = 1; t > num_1; t++)

for(u = 1; u > num_2; u++)

If i in D [i, j] t> i in D [i, j]u and i in D [i, j]t > j in D [i, j]u

Start:

End:

level_num = # of level in value

num_1 = # of D [i,j]s

num_2 = # of D [i,j]s-1

D [i, j]t -> D [i, j]u # generation of link

�����	 3A (�������� 
�� � ���� �� ��	 ��		 ��������	�

&� ���� 3� ��	 
���	 �
 levelGnum �� = �	����	 ��	 �	
	� �
 
���	� �
 D[i,j] �� <H=� ���	�
	��
��	 
���	 �
 numG1 �� < �	����	 D[i,j] �� ��	 �	
	� �
 
���	 = �� ���� D[10,10] ��� ��	 
���	
�
 numG2 �� 3 �	����	 D[i,j] �� �	
	� �
 
���	 3 �� D[9,9] ��� D[9,5]� !�� �	���� ������	�
D[10,10] ���� D[9,9]� (� � �	����� ��	 ���� �� �	�	���	� �	����	 i = 10 �� D[10,10] �� ����	�
���� i = 9 �� D[9,9] ��� j = 10 �� D[10,10] �� ����	� ���� j = 9 �� D[9,9]�  �	�	
��	� D[10,10]

��� D[9,9] ��� �	 ����	��	� �� ��	 �������� ���� �	��	��	� &� ���� D[10,10] ��� D[9,5]�
��	 ���� �� �	�	���	� �	����	 i = 10 �� D[10,10] �� ����	� ���� i = 9 �� D[9,5]� ��� j = 10 ��
D[10,10] �� ����	� ���� j = 5 �� D[9,5]�
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���	�
	�� ��� �	���� ��	��.����� 	�����	� ��	 �	
	� �
 
���	� 3 ��� <� (� � �	����� 
��
D[9,5] ��� D[4,5]� ��	 ���� �� ��� �	�	���	� �	����	 j = 5 �� D[9,5] �� ��� ����	� ���� j = 5
�� D[4,5]� &� D[9,5] ��� D[4,9]� ��	 ���� �� ��� �	�	���	� �	����	 j = 5 �� D[9,5] �� ���
����	� ���� j = 9 �� D[4,9]�  �	�	
��	� D[9,5] �� ��� ����	��	� ���� D[4,5] ��� D[4,9] �� ��	
�������� ���� �	��	��	� �������� ��	 D[4,9] �� �	�	�	� �� ��	 ���	 �	����	 �� ��� �� ����
���� ���	� ���	�� �����	 = �	����� ��	 ��		 ��������	 ����� ��	 ��������� ��	�	��	� �� ����
3� !�� �	���� ��	� ��� �	����	 ��	 �������� �
 ����	 ������ �	��� ���� �� ��� ����	�����
�� ��	 �������� ����� �� ��	 ������� ����������� ����	�  �	�	
��	� ��� �	���� ���
�	��	��	 ��	 ����	����� ���	�

3

2

1

D [10,10]

D [4, 5] D [4, 9]

D [9, 5]D [9, 9]

value

D [8, 2]

D [i, j]

�����	 =A ������	 �
 ��	 ��		 ��������	�

��
 ������	���	�� 	� ���� ���������

!�� �	���� ����������	� ��	 ��		 ��������	 ����� ���� ���	� ����� ��	 ��������� 
���
��	 �	���	���
	 �
 ��	 �	���� ��� �������� �
 ������ �� �	��	��	 ��	 ����	����� ���	� �����	
@ ����� ��	 ��������� 
�� �	�	����� �
 ���	� �� � ��		 ��������	�

&� ��� �	����� ��	 ���	� �	�	��	� ��	 ��	 ��	� ���� �������	 ���� ���	� ���	�� ��� ����	

�� ����� ��	 ��*	�	��	 �
 �	����
	 �������� �	��		� i ��� j �� ��	 �����	�� ����� ��� ���	�
�� ��	 �	
	� �
 
���	�  ��� �	��� ���� ��� �	���� 	*	���
	�� ��	� ���� �	���� ��� ��������
�
 ������� &� ��	 	�����	 �
 ��	 ��		 ��������	 �� ���� =� D[10,10]� ����� �� ��	 ���	 ��
��	 ��� �	
	�� ��� D[8,2] ��� D[4,5]� ����� ��	 ��	 ���	� �� � ���	� �	
	�� ��	 �	�	��	� .����
7	��� ��� �	���� �	�	��� ���� ��	 ���� ��������� ���	 ����� D[9,9] ��� D[9,5] �
 �	
	� 3�

;� ���� @� ��	 
���	 �
 numG1 �� 3 ������ D[9,9] ���D[9,5]�� ��� ��	 
���	 �
 numG2 �� 3 �����
D[8,2] ��� D[4,5]��  �	�	
��	� ��� �	���� ������	� D[9,9] �	��	���
	�� ���� D[8,2]� D[4,5]�
��� D[9,5] ���� D[8,2]� (� � �	����� �	���	� D[9,9] ��� D[9,5] �� �	�	��	� �� � ���	 �� ����
���	 �	����	 ��	�	 ���	� ��	 ��� �������� ���������� ���� D[8,2] ��� D[4,5]� ���	�
	��
��	 
���	 �
 numG3 �� < ������ D[10,10]��  �	�	
��	� ��� �	���� ������	� �	��	���
	�� D[9,9]

���� D[10,10]� ��� D[9,5] ���� D[10,10]� "	����� ���� ���� D[9,9] �� �	�	��	� �� � ���	 �	����	
i = 9 �� D[9,9] �	���	� i = 10 �� D[10,10] �� ������ < ��� j = 9 �� D[9,9] ���� �	���	�
j = 10 �� D[10,10] �� ������ <A D[9,9] �� ���������� ���� D[10,10]�

���	�
	�� ��� �	���� �	�	��� ��	 ���	 
�� ����� ��	 ��*	�	��	 �
 ���� �������� �� ��	
�����	��� &� ���� 	�����	� ��	 
���	 �
 ��*	�	��	� �
 ���� �������� ��	� �	��	���
	�� 4�<3?:
�I| 9

11 − 9
13 |� �� D[9,9] ��� 4�@==B �I| 9

11 − 5
13 |� �� D[9,5]�  �	�	
��	� ���� D[9,9] �� �	�	��	� ��

��	 ���	 �
 ��		 ��������	� ��� D[9,5]� ����� ��	� ��� �������	 ���� ���	� ���	� ��� ��	
��*	�	��	 �
 ���� �������� �� ��� ��	 �����	��� �� �	�	�	� 
��� ��	 ��		 ��������	� �����	 ?
�	����� ��	 .��� ��		 ��������	� !�� �	���� ������� ��	 -)6 ����	 ����� ���� � .��� ��		
��������	�
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for(s = level_num-1; s > 1; s--)

for(t = 1; t > num_1; t++)

for(u = 1; u > num_2; u++)

If i in D [i, j] t-1== i in D [i, j]u and i in D [i, j]t-1 == j in D [i, j]u

Start:

End:

level_num = # of level in value

num_1 = # of D [i,j]s

num_2 = # of D [i,j]s-1

tree.node(D [i, j]
t ) # addition node to tree

LOOP:

go to LOOP

for(v = 1; v > num_3; v++)

If i in D [i, j] t+1== i in D [i, j]v and i in D [i, j]t+1 == j in D [i, j]v

num_3 = # of D [i,j]s+1

tree.node(D [i, j]
t ) # addition node to tree

go to LOOP

min_D [i, j] = min_diff(D [i,j]
s)

tree.node(min_D [i, j] ) # addition node to tree

�����	 @A (�������� 
�� �	�	����� �
 ���	� �� � ��		 ��������	�

3

2

1

D [10,10]

D [4, 5]

D [9, 9]

value

D [8, 2]

D [i, j]

�����	 ?A ������	 �
 ��	 .��� ��		 ��������	�

(� � �	����� ��� �	���� ��� �	�	�	 -)6 ����	� ���� ��
	 �� �������	 ����� ������ -)6
����	 7�� = �	�����	� �� 6	����� =�<�A ��� �	���� ��� �	��	��	 ����	����� ���	 ����� ����
�	�	����� D[i,j]�

 �!�"# �������	� ���
���	�� ������ ��	�� 
����

%	 �	
	���	� � �	� ��������� 	
�������� ����	� 
�� ������	 ������������ !�� ����	�
��	� ��	 ������+����� �	���� �	�����	� �� 6	����� =� ���	�
	�� �� ��	� � �	��� �� �	�����
��
�������� �� ����	��	 ��	 �������� ������ %	 �	������	 ���� ����	� �� �	���� $����
�	��� ��� ������+����� 
�� ����� ��-!)�� )�����	� ��	 
�������� 	�����	� �����
�	�����

���������	 ����� ���	 �	�	����	 ��	 ����� �� �	���� �
 ��	 ������ ����	
�
����

�	 ������	�	�� �
 �	��������� �� ��	 �	���� ���	� ��	 ������ ����	 �	 �	�	����	

�-!) ��������	� ����	� ����� ��� �������  � �� ��� �� ��	� ��	 
�������� ���� �@� ��� �?��
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R =



∑RN

i=0

(
αi

∑
c∈cGnum length(c)β

)

mβ




1
β

�@�

P =



∑RN

i=0

(
αi

∑
c∈cGnum length(c)β

)

nβ




1
β

�?�

���� �@� ��� �?� �	��	���
	�� ���� ��	 �	���� ��� ��	������� �����	 B ��	�	��� �� 	�����	
�
 �	�	��������� �
 ��� ������ �	��		� ��	 �	
	�	��	 ��� ��������	�

reference :
array rule determine [the] limit to [design] of [the wiring route]

arrangement of restriction on [the] [design] rule , [the wiring route] 
be determine

(1) First process for determination of chunks : 

candidate :

reference :
array [rule] [determine] [the] limit to [design] of [the wiring route]

arrangement of restriction on [the] [design] [rule] , [the wiring route] 
be [determine]

(2) Second process for determination of chunks : 

candidate :

reference :
array [rule] [determine] [the] limit to [design] [of] [the wiring route]

arrangement [of] restriction on [the] [design] [rule] , [the wiring route] 
be [determine]

(3) Third process for determination of chunks : 

candidate :

i=0:

12+12+32=11

i=1:

12+12=2

i=2:

12=1

�����	 BA ������	 �
 �	�	��������� �
 ��� �������

�-!) �	�	����	� ���� ��	 -)6 ����	 ����� ��	 ����	�� �	�����	� �� 6	����� =� ���	�
	��
-)6 ����	� ��	 �	�	����	� �	�����
	�� 
�� ��� �������� ������ &� ���� B� E��	F� E�	����F�
��� E��	 ������ ����	F ��	 �	�	��	� �� ������ �� ��	 .��� ����	�� 
�� �	�	��������� �

�������  �	�	
��	� ��	 
���	 �


∑
c∈cGnum length(c)β �� <<�I12.0 + 12.0 + 32.0� ��	� β ��

3�4� &� ��	 �	���� ����	�� 
�� �	�	��������� �
 ������� E���	F ��� E�	�	����	F ��	 �	�	��	�
�� �������  �	 
���	 �


∑
c∈cGnum length(c)β �� 3�I12.0+12.0�� �������� E�
F �� �	�	��	� ��

� ����� �� ��	 ����� ����	�� 
�� ����� �	�	����������  �	 
���	 �

∑

c∈cGnum length(c)β ��

<�I12.0��  �	�	
��	� ��	 
���	 �
 ��	 "	�������� ����	� 
�� �	�	��������� �
 �������	 -)6

������ RN � �� ���� �@� ��� �?� �	���	� 3�  �	 
���	 �

∑RN

i=0

(
αi

∑
c∈cGnum length(c)β

)

�� <3�3?�I0.50 × 11 + 0.51 × 1 + 0.52 × 1� ��	� α �� 4�?� ���	�
	�� ��	 
���	� �
 R ���

P �� ���� �@� ��� �?� ��	� �	��	���
	�� 4�=<83 �I
√

12.25
112.0 � ��� 4�3B:3 �I

√
12.25
132.0 �� �-!)

������� ��	 .��� ����	 �� ��� �B� ��
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score =
(1 + γ2)RP

R+ γ2P
. �B�

&� ��� �B�� γ �� �	�	����	� �� P/R�  �	 
���	 �
 γ �� 4�8@B4 ��	� R �� 4�3B:3 ��� P

�� 4�=<83�  �	 .��� ����	 �� 4�3855�I (1+0.84602)×0.3182×0.2692
0.3182+0.84602×0.2692 � �� ��� �B�� �-!) ���

������ ���� �������� ����� ����� �	����� ���	�
	�� �� ��� ������ ��	 ����	 	,��	����
�	�	������� ��	 �������	 -)6 ����	 ����� ��	 ������+����� ����	���

$ %����	�����

$�� %����	�����
 ���������

"	
	�	��	� ��� ��������	� �	�	 ������	� 
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